I3pbpuiere o3HaueHUTe JEHCTBHA U HATPABETE NPHBEICHHE:
1. (5m? — 5m + 3) + (—dm? — 5m — 3) — (2m? — 8m + 2)
Oma.: —-m? —2m — 2.
2. 522 — (322 + 2z — 1) — (—z2 — 32° + 5)
Ome.: 3z° 4+ 32% — 2z — 4.
3. (z—-5)(z+2)
Ome.: z* — 3z — 10.
4. (y+3)(¥* -3y +9)
Ome.: y° + 27.
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. (4a - 3)(2a — 5) + 20a
Omea.: 8a° — 6a + 15.
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. (15a%y® — 10a*y* — 25a%y3) : 5a2y®
Ome.: 3y* — 2a*y - 5a®.
7. (282%y — 8z%y? + 5xy8) : (—4zy)
Ome.: —Tz% + 2zy — liyz.
8. (2% + 3)(z® — 3z) — 2z(z* — 3z22?)

Ome.: 3z — 9z.
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M3pbpiiere o3Ha4eHuTe JefCTBUS U HApaBeTe IPHBEIeHHe:
1. (652 — 6b+ 2) + (—5b% — 3b— 2) — (—3b> — Tb + 4)
Ome.: 4b*> — 2b — 4.
2. 223 — (422 — 3z - 5) — (z® — 5z —z - 3)
Ome.: o3 + 2% + 4z + 8.

3. (x+4)(z-3)
Omea.: 2% +x — 12.

4. (y=2)(® +2y+4)
Omea.: y° — 8.
5. (3a — 5)(5a — 1) + 15a
Ome.: 15a®> — 13a + 5.
6. (12a%y® — 15a%y* — 9a2y®) : 3a%y®
Ome.: 4a® — 5ay — 3y°.
7. (1623y — 2822y + 3xy®) : (—4zy)
Ome.: —4z° + Tzy — %yz.
8. (223 4 3)(z? — 2z) — 2z(z* — 223)
Ome.: 3z% — 6.



